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When the ‘U’ is a derivative noun, it needs a link and the link is:
1. Pronoun:
A) In a derivative noun; such as “crisia (¥ &) i Y 7
B) In a sentence-like compound; such as “4ii ) & 4a 8 e 7 287
C) In a ‘4= das’ that its verb is ‘¢ Jbsae’ and without ‘¥’; such as ““ s
O 5 elie aall ) sela” or it is negated by ‘W’ or “¥’; such as “ sl ¥
aaagll”
D) In a ‘4= ilaa’ that its verb is past tense and after ‘¥)’; such as ““ 5 s

O g 43 ) S V) im0 peitls e dlal) e

2. ‘9’ and it is In a sentence without the pronoun the refers to the ‘Jsll 5¥;

sUCh as “ys smad 13) Bl dae (a5 cidl) 4l ol | s

3. Both ‘s’ and the pronoun, and this is in a ‘4= 4lex’ that its verb is
‘¢ Jbas’ with ‘2 and in a ‘4wl 4as’ that begins with the pronoun of the
‘dall gy,

Example: “aSall & Jsu s S Gsalad 8 5 55355 A7 and ) sa a cpdll ) il

gl D3 Gl an g ab jls (a7

The principles in ‘J»’;

1. The ‘J»’ is indefinite and the ‘J)) 53 must be definite or a non-
absolute indefinite.
Example: “lss Slsy) GIA 9 and « &1 s ol A )i 3 5 81 L )3



If the ‘J=’ was definite, it must be interpreted as indefinite.

Example: 3 AYL g Y cpdll &l &_I)LA.JJ‘ 0l ¢ 41 )53 13 ¢ 1.e. ‘;\J)é.'m’

2. The ‘d=) 52 is mentioned, but sometimes it is omitted.

Example: «Y s 1 &l oy 2 13 7 g, Y gy A0l Aay”

3. The ‘Jd»’ is after the ‘J=ll 53° and the ‘dsle’, but sometimes it is not.
Example; o<l 88 V) Sl i L 57



